Name(s) __________Key_____________

BA 353: Take Home Exam 2 Answer Key

a) [image: ]

b) No feasible solution.  It is impossible to eat healthy for a day at McD’s (with these menu items).
c) Supply chain issues.  Maximize profit for shareholders.
d) 1.6 Egg McMuffins, 2.1 Fries, 3.8 Milks and 18.6 salads!  $26.  Delicious.  Calories and sodium are binding constraints.
e) All the items in solution are $1 because goal is to minimize cost.  No ketchup though, and it’s free – but has too much sodium.
f) 1 Egg McMuffin, 2 Fries, 4 Milks and 20 salads.  $27. 

g) 1 Cheeseburger, 0.7 Egg McMuffins, 1.5 Fries, 4.3 Milks and 20 salads.  $27.53.  Can do 2 burgers with cost up to $29.61 but 3 burgers is infeasible.

h) 2.5 Milks, 16.7 Ketchup Packets and 30 salads.  $32.50.  Um, gross?
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Item Big Mac Double Quarter Pounder with CheeseCheeseburgerMcChickenFilet-O-FishEgg McMuffinChicken McNuggets (4 piece)World Famous Fries (small)1% Low Fat Milk JugKetchup Packet

Min 0.0 0.0 0.0 0.0 0.0 1.3 0.0 3.2 8.7 0.0

Cost 3.99 4.79 1 3.49 3.49 1 2.99 1 1 0 13.16 $             

Calories 550 740 300 400 390 310 170 230 100 10

2000.0

<= 2,000

Total Fat 30 42 13 21 19 13 10 11 2 0

69.1

<= 78

Carbs 45 43 32 39 39 30 10 31 12 2

241.3

<= 275

Sodium 1010 1360 720 560 580 770 330 190 80 90

2300.0

<= 2,300

Fiber 3 2 2 1 2 2 0 3 0 0

12.1

>= 28

Protein 25 48 15 14 16 17 9 3 8 0

101.2

>= 50

Vitamin D 0 0 0 0 0 2 0 0 2 0

20.0

>= 20

Calcium 120 200 100 20 60 170 6 10 260 0

2514.1

>= 1,300

Iron 4.5 6 3 2.5 2 3 0.5 0.5 0 0

5.5

>= 18

Potassium 380 660 220 320 300 200 140 470 350 30

4787.9

>= 4,700


